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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence, Then mark your answer sheet.

1- Before you --—-—--- to the next question, vou should take some time to make sure
yvou're happy with your answers so far.

1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—- ; the kids spilled food all over the
Kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) Nasco

3- We were very unhappy with the --——--- way the moving company tossed our boxes
into our new house,
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was *“as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ----—-- -- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s --—-eeue- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—eeaeee
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --—----—-- . said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You'll have a better chance of finding that unusual word if you look it up in a/an
------ dictionary.
1) skilled 2) publicized 3) cultured 4) unabndged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to ---—----—-- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants,
Selective herbicides kill specific targets, (11) ~——-—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —=e—=mmam and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) ==-—=—-—- all plant material with which they come into
contact. Smaller quantities are used in forestry, pasture systems, and management of areas
(14) —mmmmmemme as wildlife habitat.

Some plants produce natural herbicides, (13) ------=--- the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides. and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) kaller of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

The airspeed is a function of both the measured pressure difference and the air density. As was
shown earlier, the air density is a function of altitude and atmospheric conditions. To obtain the
true airspeed, the airspeed indicator would be required to measure the change in both pressure
and air density. This is not feasible for a simple instrument and therefore the scale on the
airspeed indicator is calibrated using standard sea-level air. The speed measured by the
indicator is called the indicated airspeed (IAS).

The speed measured by an airspeed indicator can be used to determine the true flight speed.
provided that the indicated airspeed is corrected for instrument error. position error.
compressibility effects, and density corrections for altitude wvariations. Instrument error
includes those errors inherent to the instrument itself: for example. pressure losses or
mechanical inaccuracies in the system. Position error has to do with the location of the pitot
static probe on the airplane. Ideally. the probe should be located so that it 1s in the undisturbed
freestream: in general this is not possible and the probe is affected by flow distortion due to the
fuselage or flow inclination. Unfortunately. this is not the case for the static measurement and
care must be used to position the probe to minimize the error in the static measurement. If one
knows the instrument and position errors, one can correct the indicated airspeed to give what is
referred to as the calibrated airspeed (CAS).

16- The variable conditions of atmosphere prevent us from:
1) Direct measurement of true airspeed
2) Direct measurement of indicated airspeed
3) Calculating air density for finding airspeed
4) Calculationg air pressure for finding airspeed speed
17- Standard Sea level atmosphere is used:
1) Because it is the condition that always prevails,
2) As the basis for airspeed measurement.
3) For increasing the safety of flight.
4) Since it is easy to implement.
18- A leakage in airspeed indicator is considered to be the source of which error?
1) Compressibility
2) Density
3) Instrument
4) Position
19- Based on the passage, in which case of pitot mounting we would see the least error?
1) on the tail
2) on the body
3) under the wing
4) in front of the aircraft nose
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20- One can infere that the static pressure measurement accuracy is more sensitive to
which error?
1) Altitude
2) Compressibility
3) Density
4) Position

PASSAGE 2:

In obtaining a model. we must make a compromise between the simplicity of the model and the
accuracy of the results of the analysis. Note that the results obtained from the analysis are valid
only to the extent that the model approximates a given physical system.

The rapidity with which a digital computer can perform arithmetic operations allows us to
employ a new approach in formulating mathematical models. Instead of limiting models to
simple ones. we may. if necessary, include hundreds of equations to describe a complete
system. If extreme accuracy is not needed, however, it is preferable to obtain only a reasonably
simplified model.

In deriving such a simplified model. we frequently find it necessary to ignore certain inherent
physical properties of the system. In particular, if a linear lumped - parameter mathematical
model (i.e.. one employing ordinary differential equations) is desired, it is always necessary to
ignore certain nonlinearities and disturbed parameter (i.e.. ones giving rise to partial
differential equations) which may be present in the physical system. II the effects that these
ignored prosperities have on the response are small. good agreement will be obtained between
the results of the physical system.

We must be well aware of the fact that a linear lumped-parameter model. which may be valid
in low-frequency operations, may not be valid at sufficiently high frequency since the
neglected property of disturbed parameters may become an important factor in the dynamic
behavior of the system.

21- What does the author mean by compromise?
1) Balancing the requirements
2) Sacrifice one requirement for the other
3) Give more priority to model simplicity
4) Give more priority to model accuracy
22- The digital computer has had more impact on:
1) The validity of the model simplicity
2) Simpliecity of the model with existing equations
3) Accuracy of the model parameters results with using more parameters
4) How the engineers can validate the real time compromise

23- Partial differential equation is preferred:
1) When ordinary differential equation is not available
2) When nonlinearities have to be accounted for
3) When disturbed- parameters have to be ignored
4) Because it is simpler



& dxio 358A Lad _ loh  wiigo df gozxe iJFjT

24- One can say that when analysis and experiment’s results do not agree with a simple
model:
1) The model is too simple
2) the model is sulficient
3) The partial differential equation is not needed
4) The linearity of the model should prevail.
25-The response of a linear lumped-parameter model:
1) May be ignored at high frequency
2) Is not related to the frequency
3) May not be similar at different frequency
4) Should be compatible at low and high frequency

PASSAGE 3:

Pathfinder controllers do not receive an indication from spacecraft engineering data on the
status of battery, but they have determined through modeling that it should be capable of
withstanding 30-40 such cycles before performance is degraded.

Turning the computer off and allowing the battery to be slowly charged by spacecraft's solar
panels will not save the battery, but is intended to lengthen its operational life. Placing the
lander in a hibernation mode could also be done periodically in the future. but eventually
project officials will transition to operations without use of the lander battery.

26-According to the passage, turning the computer off:
1) Will save the batterv and makes battery’s operational life lengthen.
2) Intendes to make battery’s operational life lengthen but will not save the battery.
3) Will save the battery and won’t make battery’s operational life lengthen.
4) Intendes to make battery’s operational life lengthen and will save the battery.
27-According to the passage, once 40 cycles has passed:
1) The battery is upgraded.
2) The battery becomes outstanding.
3) The capability of the battery is increased.
4) No more is expected from the battery.
28- According to the passage, placing the lander:
1) Could also be done periodically in the future.
2) Is done in a hibernation mode to save battery.
3) Is designed by project official to use the lander battery.
4) Will be eventually donce in a way that it does not use the lander battery
29- According to the passage, the rate of charging:
1) Alfects solar panels’ life span.
2) Increase the length of the battery
3) Can have an impact on the battery life.
4) Helps the computer being turned off slowly.
30- According to the passage transition to solar panels will be done:
1) Nothing mentioned in this regard.
2) Before hibernation period.
3) During hibernation period.
4) After hibernation period.



¥ dxio 358A Las _ lgh  —widge 4f g0 ::JF.-!T

(i Dbl g il 0 OYolee) DLSL,

ol plas oy = Xy —siny ol gole jué Dlg>  —¥)

Y
V+yYi—X
X =cos(—) ()
X

S

; +Vi+x'
Y= Hin{;] {T
h
Y
X+Yi=Xx
y=cos(———) (¥

y =5ain(ﬂ) (¥
Y
polio ol&T wail (Px" +y )dx—vxydy =0 el iiss alolro sl J1,550 Jole w=x%b P

Cl alas Byox

o=- p=y

oa=—y PB=ai(¥

oa=ec [f==1(r

o=—Y P=oc (f

Jiod ofen aolse S @ Al gylado 4 il & YXYTAXH(XTYT Ay =0 i peii b -FY

fogadie
A=+~ ()
Y
\
}l.-:+— {T
=
A==Y (¥
A==\ (f

Flawl plas ydx + (x+ .‘ir}’r}d}'=o Sl yag 0 alolas lg> V¥

-\
T{xyjl "fInx=c¢
TIX}'} +Iny=c (¥
L v
T(:-:y} +Inx=c¢ (¥

=
T{_x}' ) +Iny=c (f



¢cal plas (¥ =)+ tan” x)dx +y tan xdy = o asles jlu JL5a!l Jele -YO
cosx ()
tan x (¥
secy (Y
siny (¥
foa plas ¥ =y 4+ Fy — Fy = 0(SINYX+ €05 YX) foil pis0 alolan osac le> —YF

\ , ;
——X(rsinYX +cosYx)+ce" +ey CoSVX +Cp SInTX ()
!F
\ . % .
~—X(¥sinYX —cos¥YX)+ce” +Cy COSYX +Cy SiNYX (Y
f
| E . X X, . TX
—X(YsiInYx+cosy¥x)+ee” +epxe” +epx e” (¥
?
\ ; : : -
—X(rsmyx —cus‘r:'-:}ﬂ:.,e““ +cf:~:e" +::r.>c7t:" (Y
f

#

Casl P8 XTY XY (X =By =0 s Wolee ( punin) daaciinn dlolne -~ 1Y

rf=o ()
rF—f=o (Y
r(r+\)—f=o (¥
r(r—Y)—%f=o (¥

1
Fiansl plas }'{t]=5int+j e ly(u)du J,500 dolzs wls ~YA

(=}

sint+cost—Y (A
—sint+cost+Y (¥
sint—cost+) (7

sint+cost+\ (f

"{In{1+ }} &y ol 50 il L{f{t}} j Fu)du Lol 5 L{f(t)} = F(s) ucs 2,5 ¥4

¢ anad alas
\—g
(3
1
=
E —
(Y
t
|
= (v
\—e
i
(f




=X{+ Xy =X,

Tl plas . Y leo olfiws cuges wlea g eyl slacul slasi - Fe

» r}_ -

fQ
il 4
AR
\ (F

Z
¥l FL‘J .[]EL J..aL':l- -F)
¥

o ()
-y (Y
V(Y
Syl 2924 (¥
i ILI—r
g ol Al duse S O &) WZEIEEZH{} bowd i Imiz) S0 Swb axio o pgas ~FY

fwwl plas ((Im(z_ ) < e
ImWz=s ()

| w Sy (Y

ImW <o (v

|w =Y (¥

Ty
Powwl alus . f{z}= Z ﬁu' u.I.S.I blii sloaxy  -FY
|z|" |z]<
V()
Y (Y
i\

JJLL; (f



358A

= Igh o a2 gorxa (34|

o).

cus{—}mi“t

Wbl i cppe e ¥ =1(X) , — TS X< &l 498 gy 0iS (28 - FF

dw = <

COs5X

C F(=)" Y ant
+ E X)+ —(— :
z cos(nx) “[ V)77 sin(nx)

T
feaw! plas I f(x)(cos x}T dx Hlado wjge ul 4o
|

tpa b

g
g
)

T . W WIT
—(\— wT]mn{—}—Tw Cos —
Y

Aniils oy yed 1,5l 5l solaiwl b 51 —FD

s
[x|<—

Y . !
2 4 )98 JI 5l

|x[2—
Y

hlﬂ e SI].'I WX

dw ()
{‘l—w‘.l

_ Sin— r.:ns WX
dw (¥

'ﬁ]

i r.m,—sm WX

dw (v

T gin wx dw (f




o) 3 Gl ol ylaks 51410 35 GBI 3 Saplas bl Glaiss lowe 3 ye 4 45y goyls C 51 —F5

dz zdz
oz —Yz z +F

2" dz zdz
o= Iy = .
A - Z+Yi

c C

Fsl judia s

-mi. L
w, Iy (Y
T P
v . le (F
30 X YT =1 6l g S aniio gui 50 aF C onie (595 J.({i}f-i-ﬂzi))dz JUSail lade —FY

C
fwl plas ayls )18 SLULL Cys

Y7 ()
Yi (Y
- (Y
o (F
TS 0 Jood  F9ilS o5 4y 1y alslas 3590 plaS U + YUy + YUy =0 gl —FA

{é=?-n+ux{\

N=y+{i—=Y)x

eyl T
{ﬁ y=(1+1)x ”

N=v+(+i)x

(v

{a=y—x

N=y+x

=y+¥x
F} %

N=y-¥x

L juiilo SLSAT | wigy il Iru“-l—:cu‘-ur =0 o oliliob bedlus dolee |l Lol> Uls>  -F4
(Sl olgada > due U K) Youu! alyi a2 Jas oS 5 Jold

+k'y, tk

e Vi
X Ynxe Lnxy ()

T ¥ A %
cl‘f'lnx._:: k5‘!11:-.:. e‘l‘ Yx K . Lnxay (Y

T T
Eik y k

Yeos(kInx).e™™  ¥sin(kInx).Lnx.y ¢f

LT P B H I ¥ .
ek z'x*l‘,e k'Y cos(kInx).e k Y sin(k Inx).Lnx.\ (f



Y
plas’ f(n) .cwl u =ce'™ ' 41(n) O jgio & cagiaan 49 yad bowd il ooliiwl b p alolxe Lilea  —O¢

(| bl Due €) Sl

ug+Yu, =x" c<X<T 4 t>0

P

ux[“lt}znsuxtﬂlﬂ:':':’ y t20

u(x,e)=f(x) o SX<T

(v

(¥

H S pale Jyo! i Saoliydge i Saoliy o9 T oVl KiilSo) Saolly g il

30 1wl ool LSULS Lodaly glde g cindy S g B sleo gy o) SO Gl gy gy eSO
il plas o &l sl € 5970 s jw g U o 2 slio p oo sy 2 bl Wl

vl

G

Lﬂ-:-tt:- GJ'.':-

— e e S S
——

53l daily glboy iy Sl 8 Ghys SISl B s d Leal, By i wialt €, 3 ()
o3 o Rl g et

s ) T“"‘!}" P T 0 ol Gz pas g O paile il ezl 5 Bl 0jen 0 (Y
il ga a3

33l o Gl g a8 Lad o Ll (€ psle ol 5 Laily (gl B3 ijy )5 (Y

Sy oo odliiul s g3y Lz oo gle Rl gln LS Lealy (glme s 1Y



VY axieo 358A b — lod  wiiges A€ goxa yg05

9 )LES G b U Wgo S 5l 90 b aF Wy 550 00 1y Time (b2 (8 90590 J9i 90 3 S g1y seige

M P2yt pless glodas 4o jlgp @lp ssige 92 2 jl azilis LaliS oo eoliiul pglao glos JSTa>

Sl p1aS e &yl g soliswl (M <) S

el GLS0 j5igs g0 o il iy 5 512 e0jl LSS I alge ol salind Lo a4 ()

033k vErguyp jgiga A Cumd OB 9298 y9890 5| (293 S S lamgne (39 Jomb U 4 (Y
el Bane seige 3l S Saas jeige M

03jk gy jyige Ay Sed [ gysl jgige 5l o293 GBIE Ce e bauge o sl e 4 (T
ol Szanyai jeige | St Banyel yeiee ()l

o35l iz guyal j3ige 4 S (F gaysl yeine | oZa S8 Cepw bugie o Homl Ko (F
ol Surgypi y9ig0 | et SBa0ag 1589 Ml

Nl el S g Hemmed U B S0 glyls oS (single spool) COLL ST (g e e SO

Vo iy @ jgw el 5 of 50 Oyl azp0 il ol Jloyem m V8 (By pass) 535 LS o

syl dr(Cp Y Guap 8 ¥ I )l pprain s g Canah S Sk gl e gd Ay her g

o9 33 Ol a2y GblS s ©jgee ol 50l VT (€] ) jguyeat 5 08 lsp (1> pgas

Seaw Vo Sl yledily Yl cpals ds jouis

ro ()

Ao (Y

1Y (¥

Yoo (¥

g (il iyl WS e oy Ly pdaw I YY Kkmogliyl 0 A5 Copey jeige Sy glp

Glos y51a> 9 FhPa lazs jLad 1A K laamo slod (Cpy =Yoo JK LY=r0 ,ffunu:—Jg-

m =
el 1-1.;5'.|5.n A0 > g Ctcniiad walb FFY — j'g_ﬁ s st df‘_,;i'J}m 39 ! YYooK I_HJ-L!
S

oy oYY (1

oy a YA (Y

oo fY (¥

o2 oA {T‘

S ey il Bl 0y Gy 1 e (S gan B Gall o0 00 STl ) yeige SO 0
Grac leh & Cogw Comd (0 ol (23 L w0ed jlop G pu Al do S e 9 (235
(Ul oo yauti digha TSFC oo g Al pemaie

el Aoy s (Y

;_Ji“.1j-a| Ao o e (Y

U;.mlﬁ‘ A0 80 (f

-y

-oY

=

-06



¥ axio

Pl oIS LS (3 gt 98 S yuain il ey Ay -0F

19790 & 5l gy9us (slgs 03 W o8 3l g e gled (o0 Cumd :f

o2 J3b I ol e e il

ol LU 5 ol (2905 ey 1l

gy e g 1l

m, =my+ M, sise 4 g89y9 J5 20 1M,

f=c Job & B guw

.L=LUE-. +Luﬁ'h _uﬂ {'l|
m, +f ¢ 1+f
T \ [
P TE | UIE oi | B | PO
: e e a
m, +f ¢ \+p b
T
.—=L“ec Tl — Uy \
m, V[
I \
—_—= Ug, + U, — Uy (¥
m, A+

5 A Gl Ol o 20l Gl (el 5 g g0 DT B 5 S & dagi b

h, h, Ag(h, +H) o

1

fa(h,+H)

h, (v

h, ve(hy + H) pe

13

SO90E (8950 i 3By (55970 ($9 5l w8 p (§yal Ax Wigeo eole (b > 10 g daSTy suli8l

18,18 Xpp JLa3 3550 Jore 50y (i (oo o 1O

J.SEAJFL_WJJHLMM ?':cp .._,L"“j"‘:—""l-_'gt-‘ﬂsﬁn BEH j_ca ()

S god Sy Xp Joe g b on Al Oy 5 380 eSOy g0 (F

ile oo Sl X 5 azil Ll ey g oy 5 Gy (F

-y

—&A



O p> w00 VO o Cuwl y3lids glaigf 4 Il ;5950 SG=0/F pgass (ja b (92 wae o -4
e (595 18 omilian oy ) Towwl jadz 3% 1950 glb (ZAUGE) e jLLS Cuwl jeabgs

(S5 00 5 3y S5l VU
Pair. gauga=0 Pgauge-:? R TT?WHR‘!’ {1'
......................... Wood = o Mwater (¥
40 Eml " Y water 1
e Eluid /M water (¥

50 ch

Jlddhaﬁ.aadu.uﬁJa:-gfu.mhh.rgJdlﬂpﬁbé'}hjhﬂd&ﬁgnfm;mwuu —F.
3 S plaS axiio M g2 il Vi 4xio goo Gt g ST .ol baia Jlo 50 o aiilil opé4,

5 il Jf.:'i -b_ﬂg.u

L4
TV gy @

A
gﬁ{

M op,e d domio

Y
THY axd

—— W Salus ol b g, 20

(Y

.
HY gy
Yod

1
HY gy
Fd

L

(f

Vmaﬂ:

A 3 Ay, J3U 99 10 o598 &ilas il on Juaie ;S4uSs & y15 JSb 3ollan 1,513 — ;%08 J3U 93 51

T30 (P25 30 (395w HLid Jlade BT 090 0 JSiT (g90s oo S J3U 90 (e Jlail Al j0
o] S 3 I.:I'T dy8a 30 d.h.!lj 1a|..if I\J-J.IL! J.ﬂ:— | S 3 Py JJ.H dL.ﬂ ﬁ!ﬁ ;.J,.d'.l i u‘.lld.u.n&

. A
ol 4,2 zoe Mem.i=—‘ﬁ ()
\}/_ AH Y+
A A, %
e M, M, >), —L =¥ (¥
. > L Iy
J\/L Moy, Mo
ll JII "ﬁktil
\ ) A
llr 1! ME}I"! i—ﬁ ¥
Ay Y

ik vJib



b wae Ggile Gl S blie 30 a5 5 bodnl gl bay o 2o 1SS SYMIS! (5595 I eolinul b
Coaw! plas 08 0 518 M, Flesas

N Cd:;{_{x‘#lﬂﬁ‘r] 0
¥
W M. =1
. f 11 Ty r -

——— Cqj=—r—=(a' +F 0" +vFad) (¥

JME, =1
Cy = (o + F'8" —YFad) (¥

ML —)

(o + F8" +vadF) (f

¥
YML -

My =M, 23S b ol gla e zge & bgio Jauz 5l ol oo« hile slaps 9o b plz Jo 50

P,
Ll s pé zgo Clls glp il gl po zg0 Joio ?" solio 31 aolizwl Jlo ool b 0,5 eoliswl
\
el plad alivs (o Jdo 0l oo pomes
3

el s ble gl s zge jl s jo a5 wllia Bl Co e poles A3 a6 FI;L .
\

' P
ool oty sotdmal VG et oSy o Al 5 F"— s o (Y
)

. P
e bl sleoy gy 5 pyee 59 sl Sl Banles E (¥

L
P
bl e ble glay s zge dusl) 5l Jatea T" diloes 4o (F
Y

P PN By T el oal o3ls 1) g0 & @ils (sin 30 5 2 sef piglinSTy ol sy

Tl plas HLEE lows ol
Y X
u= Gy V=—
'+t 1+t
T Y
Xy X Y
p=—v i - - "."+L‘ (1
(‘\+1) Y(\+1) Y{\+1)
T v
_H S—
“X Y e
Y(\+ 1)
—-XV
p= "T+t:{‘l“
(Y+t)
T 1
—-Xy X
p= s 7 +ie ¥

a+1)" vo+0)" v+

-FY

sy

_§¥



V¥ daxio 358A b — lod  wiiges A€ goxa yg05

wbloy qplaw g9) P (B2 b ol Jhw @ alé 4 (JASE 2950 €SO dliwg 4 (J5S Gillao
S Sl laS B =507 ol & V cull s b Ty 0,91 30 S 1 as gl p3Y A g8y Dail 0
D HAIG o M ISl

w T re
P I b ol Jhow F=—pvoa ()

/ ! I-‘=%pv‘rﬁa (
RO F=vpv'da (v
7 | F=pv'da (f

Foewl plaf pioeSly g piscddfib by S o JTowsl 55 S ol p s puo g LS s alal

Dpdigo p AMPA HLLS jo g5 Jedo (Saalisoge i (pled b (5 gm EI 358 )l b Co g (350 SO
9002 03 o0 3 Jas g YooK 55w 4 8955 50 Cdgm lod g il Voo 30w pxe
f ] @ 5 gl Wi 0ulh 3 5lg aB gaw p 2 il 0 (SSLLST)

TK Y kJ kJ
B om= Y v Q)

ke ke ke
i L 2
Yoo / i Foo Abo A ¥
¥fo ! TVa  Fbe Fxa (F

vho ©°/°Y0  Aps  Vao
Fro °/F  shs  Aoo

Tl ros 5o (g1 P S5 50 )1l plo 4z 0

Pl Sy ] 2t 4 STl Sy ] 2 e e ()
ARl o gl g gl il Lases g S (F
2RSSl Lodes s I EaT il o Ss il g a8 (F
HNEET 3 - Loded 1 98 3 CaldS 3l - Ladga 2yg el (¥

~Fd

55

-FY

-FA



W oaxio 358A = lgb wiigeo af goza iJFjT

ky sz P=tatm 3 T=Y8C )Lid g Lo 1o C+ 0y 2 COy sty Jolo ol as Jyaw 0 -4

filamsd Ky o STy plaf Jolai' coli sl
C+0,2CO, T=rd%, P=gatm (

C+y0, 2CO+0, T=vo", P=tatm (¥

C+0,+v¥#N, 2CO, +¥,¥#N, T=ra%, P=vaim (¥

C+yOy +v¥#Ny &2 CO .+ 0, +1,¥#N, T=v2%, P=1ratm (¥

b ooy A Akl jo Jlow cdlo el oud sals HLid O Jhow (gl p bod s g jLES a5 45 5loged 3o
jlas ¢

'9*3-'-"-'-.'.-%' ABC L= J,.:j g AB

7//7
//7////

dal> ABC L ) ok g el plidl dogams AB L wilfFaw A dlaai ()

gl P

wl= :ABC bas 3 Gl g sl gLl Baguses AB L= vy A ddadi (Y
_;.l.:"u .ABC s ) ‘_,Eq g ,:..llua EL..Q' 5-13..\2.4 AB L ailfa A Alaz; {T
JL:'U ABC h-“;"_)-lj -;EJRJE‘:._ILa &Lﬂul ‘ﬂdsmAB L ‘L_'F‘]JJ'!A -:\.h._ﬂ.z(f

{55 3 510l 13, Slas i Slogil J55S) s Sl

O] plAF Foammie 400 35 < § dis dile ot Fike gllas 9590 0 - Y)Y

10
s(s+1)(5+2)

.asﬁij'ﬁ.&;-aﬁ uﬁlﬁ‘hmﬁdésjnhﬁ}é{\
Jusuﬂj.d.ﬂ:ﬂ-b:&.l |J£'LM£J5J41_-_¢IJ JJ{T
il s s (53955 niai y3 (T

Gl il (53459 sosins 13 (F



VA axio 358A Liad = lgl | cawihien 48 gozxa (5903

B(s .
fml plus % Jo @l ades oy 5l 98 e by JSB 0 VY

K
7]
n AN m
< g » b > Tf
b

a
(¥ v T
mya's’ +mpb's +cas+kb

O
(m, + my, ]II_'EIT +b")s" +cas+kb

ab

Y Y XY, ¥ Y
mya's +mpb's +ca's+kb

b
(¥ Y_¥ - Y
mya's +myb's +ca's+kb

Focwl plaf oms sau 3 (p ) dado doleo b akaly jo -YY
ST Hrst s  +es+FP=0

.JJL} _,L.LEL;U 4Ly, U e (T ] J.L’»!L,’. o ()

S50 Ll Ay ) 4w gt (F 3yl Slubl Az, g3 s (F

D900 d bl co hasS o3luil o1 5 Lo gl a8 Gy (jw) 9 Gy(jw) abi g0 ol (318) Bode ol 5Ls V¥

‘p 'flluu'p‘.ﬁ'aamd:q.jf ..a:_l.'r' 30 ‘Hfaaﬂ }lilﬁn._d.ln_.nﬁéa_,,.nja Al H
A
0 ol B pains e Gy g 5 e Gy (1
Gy o B ponina ot Gy g 3B poninn Gy (¥
z ™
it 3B periago o Gy o Gy (F
=180
(Vi)
Y
SE<) o 5 3 G(s) = On ¢ m 8 o iengis Kp A 3o sy <V
C_ﬁ{i ﬁw‘wwﬁﬁes!}lﬂ {5}— Y " ..suﬂﬂn.ﬁ_"JQW H'I’-!J.Aﬂﬁ.wr

s +YEm,s + o,
Wy = Oy, \—E" (v

m,
e glosss bt Fels (F

Wy 3 Wy 3 pé odlS 5 (V



14 azxino 358A b — lod  wiiges A€ goxa yg05

Cams oo olid K cude polie glil ar ) e gl 1) Al ) cwain 50 a3 plas -VF

s+1 5

(Y

0

S ¢ I
= 1

pl Lo 4y ¥ plus s o Lid |; (minimum phase) U pocws piwew & 091 ol 5L 25 K& VY

10
o)
Z S0
o]
E
=
& Oof —
@
=
-50 - . —y
10" 10° 10"

(Y

AL

”"I}' » (f |'\*j—l"ﬂ"

fail o ] 381 090 IS g dugy 31 0L hjg daul s jo —YA
wes Sl & T gl dugl (7
sl Cblica (F

Silan o ()



43 30 w03iee 0o, glad s sl sud 00ld gy KB )0 (LB 0 )5 50 Lewlee lgy Bagume -VA
g o0 Jolo Sl

a ()

b

c(r

d ¢f

(Cruise) yow jlgy > 30 ol oo by ol cpun by 00055 dhgp glp <o Gloglen SO A
Sl plaS oo 420 35 s 531 U Lol 31 T £ 85 ) Ol pki 3590 5o bl 0
s S Longlom ayr 4y £A] et ()
B (T lga S @ gl )| pni (F
) (Ko Loglyn (59 D pedd 4y £li5)] i (¥
)l (s Lonlg (sl 0 Ty s 4y gl ) i (F
alox 8915 b oy (gl oy dlsly 51,035 0 lg 1 U)o e £l )1 0 0 )53l VP00 pya by lanlse  —A)
yio i gLyl pl o Lagles (stall speed) Fuiloly cuc pw bl Cp =0/ ¥ +50— 0" & 90 &
(caSe Yooy p SolS VY lga (JBa 5 2250 o T8 Ll oo lis) fenl aill
Ve ()
Yo (¥
Ye (T
po (¥
ASA +Y0°C ;0 jlap kulud o —AY
Sl J gl ) 5l 25 (s bnd glai, | (Y ol (J gl 5l e (55088 gl ()
wanled glag | 5l a8 g lis plas )l (F Cales glaz| 5l a8 u.ilﬁ.-,; gl )| (v
lamlgh (305 590 pliaa j0 —AY
Wb oo 2l Fuilely S ()
b oo hals  Fuilels L pus (Y
Aile ool | Failely e pos (Y
)8 3g2rs (Silaly S 5 (53] 498 (e (B (GBS lsp ES,] 4 e (F



LARE T 358A Lad _ loh  wiigo df gozxe ::JF.-!T

ol gl o Cowd I t=Vosee loj 50 1) 098 Cull eIl 1 SO jlam b 5o gy ST SO
b e s &Sy oy 3550 S S > e 08 Blail & o] LA 3 je a5 Sl pe Casl §5de
gsreo 40 55 vl 009 (Sliwl Jlaal lal 5o placew 45001 (28 L 0iS (e S > X =0 0 Ot A
Gl ol loj ol sy

_— g S 5 ol (SEl gl O
Dy ca e o] (Sl (g sl (F
A g et ] (S gl (F
b aslys  Sasbial bl (F

JE 35 y0 Cordgo [y piais bl Cows 53 5 sleesls 90 lay ) Lewler U (oly a5 S el 50
fog ualy> az jlan ol 35 (C) 6l » v pd i 83k 5 (CG)
Cp Reoia =oNb—o,YC} —o/0V0 —Yo° <O £1e®
i(-_ﬂhF.t,:c.,-m c oL CpL LY7o ()
}_(C.G ‘ AFT= 0% —ox¥a=<Cyp <vxa (Y
Xca |AFT: o Y8 1 o \0<Cp Y (F
op 08l Lawlse Cp 4 L3 O Alons (sl (F
Tl o105 s 4y 35 (13390 30 <9 53 Lomila jlg s )90 50
il god (990 B jl esliial 4 5ls (hg5ee 599 Bade 43 ()
33,8 oo )18l 5ead g sy Mgl S0 Sl b Bpo 5580 590 (Y
Aol adlie o glils Wl e G alRiws (o Lalan glagly e g la s (Y
g1 anlas s (2) s3gae sy Jy> (Slagly ey 6100 1o Loslyn 5550 350 0 (F
fadl p ) O ygo plaS & > o silo 509 slaia 9o a5 Cuwl > (ST S0 31 yakiie
Sl 5 Slagh pof LaF 58 050 5 i ()
Skl 5 (Glug o g5 98 394 g (i (T
Sl (lugi 205558 350 5 Lalizee (V
Sl Slog 19548 390 g laliss (F

Ei 8 . 5w - 1 . ‘ i el
Th ='?q.l"""h-‘ plas (O, oo gl &5 @ o T30 0 30 (Srolindg pl Fodies 40

_A¥

-Ab

-AF

~-AY

—~MA



ol LS lrali ) 0590 j0 il 5 JSE Lo 4 Lagler 18 glagly G (b LS, S
P! s 4 35 plus Loy lsa

a4 Y)Y
—a, ¥to,Vii
[— o, 8V
1 v aeky
) : . J | —o) v£o,voi
o  —m  éo 10 100 f2e ;
| =0/ oY £ o0 Ybi

—a; dy¥i
—oyo¥ oo Vo

q(t) a

(f

got Elals R g loalgd Ce g V51000 0 LG (Pull Up) 2S5YL jeile SO jo 1) lealen o ) IS0
! 1A Lo 15 4 00l )b o b il Al LS G 5 (1590

VT

n= ’——\ ()
R.g
v

n= +1 (Y
R.g

Y
n:i._'ll {'T‘
R.g
8
n= x +1 (f
-2

~-Ad

R

(2o jlus udos' gl nglio wrliblaiy | i Saoliy ) 2 l3o sloo jlus

SAYL e SileS Conglis j luass Culies § adais Sl b suid 0318 L ablie j) Sy plus

Yo 5la 5w

T L

-q)



oz 3 G i Ko s il S 1giS 1d adaio g o5luass Sols (V) 5 (1) ejlw 90 wlaisks 51 -4
Tl plas () ojlw 1 (em) yio il

l T
A D E \L H
B G
20 T.mc r - [ T J_-@_b____,_l-"""'r 5 60 T.m
A—T o =T B
L L L L . L . L
T ' !

(1) )

40T

i
L]

/Y0 ()
V(Y
1Yo (Y
Y/vo (F

il My plp i Job plad )3 (chns S jlado 45 ol o (5510530 (A yb 49 25 )10 o5 yow 99 i AT
Sydiign yiid o JS i (o (5550 1 sl IS (A ) o Bamig 33 3o Bl ol s

sio . A=0e ()
7] IN M. /"
rd ~ A=—— A#e (¥
7/ \ X
s A=l N r
YEI
(F
p =0t JA#o (F
AEI

80l e X jeme gliwly o bl SO lawg ui S g2 5 glacil jo g eud Sl il S0 g0 p e -AF

(Pt:r }3
(Per ),

§ il ,nLLf

o/ YEA ()
2/ YAF (Y
o XY (Y
Y (¥




YF axin 358A

Lad — lgh cwiige 4 gorma (903

n—n ol a0 13 JS';’ HJL’" ""'""-""éﬁ ‘J"Ua i FT‘J:
ol ks g e ()

sl il g poss (F

FT P J|,_'|,_:|_JT 3 L.-"""”u {f‘

Fowl a'lj.‘._.n a4 JS..':: 4o el aala *‘_-‘,L:...i o 1.5]‘}".' u.&.n.‘» J,L:..t..i‘ J.:j'!..u-
w,__LT
n!
w_ L
'Y
#
vow_ L
¥

()

(Y

(v

\r.::w«.-'cl.\r
FEA
B S I T Ly (i jalidS Fl ' ) sla b @ilas i G 1 SU las alads g0

(¥

il e LA:,;-'T 3358 3 QJL‘J‘- pt..ﬁ-

i‘ 2.0 mm

2.0 mm T‘
— l€—

17.7 mm

22.0 mm

S

ol glalg) glabio By (A5 plp o AYY JSE Lbates alade o2y A ()
ol glalg) aladie Bp A5 ply e AVE S5 Llats plade S p 2 (Y
el (sladgl pbie oy S plp Yo 55 Llatas adaiia &y i (Y
ol ply K0Sy b alaie go o Dy i (F

a5

-a5

-1Y



b g B SO0 Jaue b gl oole jl aF p jLid i of I3 Caslis g1 gladi b sl ) o g2 pdi —AA

] plal (el ol aislo V ygalyy

Prn—w] (0
Et

3

Pr
=) Y
TET{ ](

Pr

—(Y—v
EI{ ) (Y
P

r
i W (f
TEt{ v)

Sl jada 39 #1500l W) Sl el 0ol olpgl ol susld cow I S5 Balko bgye o -94
oueld Colus pgw SO plp ol e g £ plp o Sl Jaue o Y plp by e sole oguazs (s

1222227 1;’
&I-—":_E (4
! ¥
A=
fE
lT
= i."&I:I—E (v
Y
ﬁIZ*IIf (¥
30 beojladl  duls il s JF  Lade 250050 W %in Had 4o phe0a T A g dound 90 Jawgi g0 el dy590 )
P,

e il Jb il Yoksi g 50 jle by AT pSlas aSl o8 b el sad atia S

Towl J-...’!..i.‘.'g_- ki[]ﬂ -

F _
m  BHEH
[ e I F;
P

VEE (T
1.5
- YYF (YT
\To {f
ooy e 38,5 o oyl (595 My peus (9380 Eel 45 398 0 3)ly () JS&) al)l S5 & F g9y —14)

*_j- - = rl—““.ﬂ.TﬂI““
0.875" -

.‘ﬂ}

Filaml 3 3 5lee 31 S el il yl cg; 3 s oyolisl

| vim,
t= - ()
— l —] \[{nl.‘+m.r}pg+P
L I!Imﬂ ‘= Yim, o
3 — i (m, + my )ug —F {

Yim,
@ @ : - (Y
(m, +my g+ F

‘e Ylim, ¢
(my+my)ug—F

I




Lid — I8 | wiige 4egazee (y305]

@ Al 4 G 45U 2 e VB e b ) g Al pe ¥ e s b oo iyl gy ST 5 S8 50

m
PI'-"S&S““‘-."-"--:-—"T

P o “'.‘IJI Al gt b ) el plﬂ.’uﬁ A nl.'.'.-f_,.‘l- ]

| I; ﬁ' (my =my =¥Ym,_) ‘el

L Fal ‘ h A —a) ¥ (Y
'l [ ﬂ(}g |

@] (&) (@] L) +oy T (Y

+op T (¥

= A-\ =
dhaiii 3 ol Cull (g5laiie A 5l jo a5 F=—€g g juill o adad Olaise olfiws 3o gloyd
r

digfa g gl oud plail U5 Ljgee ol 50 g 0 Jie By # 0y a5 (1y,0y) dii 4 (ry,0,)
¥

il JEat bl gyl g S e 2l (Y

ol Ll g ol g Sl e 2ali (Y

il bl g5 ol g ool s 2 (Y

.Pﬁgﬁﬂhﬂﬂ?dﬁ#.ﬁbhnﬂnah uLLi Loy .J}U@.gﬁﬂgujijldinﬁg-ﬁljlq
FanS i o Szef claukulé

O

(Y

gx/‘? (r
gﬁ (¥

K pilp 78 cull oS g0 by ¥ 032 & gamio g3y p B gliiyl jim gy & A &g ) S5O 50 -

Tl plaS 3382 w0 5l L AloliM dxmio Cas puw il € ol 8585 0 e e 1Sl

g I e/Teh O
h=3m g Ygh (¥
Y
—.f¥eh
¥ g
\—e

— . Jyeh (f
Y i

-1+Y

¥

—'I"‘F



Y dxic 358A Las _ lgh  —widge 4f g0 ::JF.-!T

flawl jada (V) 50 phis pg0 b wilS 8 4 (1) S0 g gl b ilS 8 Cocid
Vo)
Yy

2K K 2K K 2K K
oM s o] Eo
B
(1) Jss (1) Jss \F
=
=

. N I .
la'J#smﬂhﬂeﬁ~d¢§huﬂﬂm~~le ol pr2 0 Joo aleo (goy3 ol Gles

] PL‘JI]I Mfﬂ"""‘“ﬁé‘!‘)" Mhpm‘jah_l d.q-_}axd.ﬂ.:qlh_,&ﬁh.m'l

v
Rt nllcfr -E :kl
¥
mcﬁ‘ = F {T
K
&
Mgy =— (¥
. o v
X Y
A\ Map =— (F
U - - Y
TR
: | :
1/4 31/4

i dilgind (pl sl 39290 Yookg oy g K=0,fm Jis o slad b K5 Gallo gladb ;o ailgil

Qﬁhﬁdﬁhaiﬁ)?gm!mwiﬁhiﬂﬂkg pqud&j!.tﬁxﬁu;ﬂhﬁfg%&#
N

.n.l.:i-).‘-.__!.{ i;,‘i.':*.:.l_, ul,r‘lﬂ l;l?i""' el Gyl by 3l o 4515.'1'.-.-:1 {;1.‘1‘1 I.s..'Bg Dgd oo Sgas KZTE

m . rad
g=Vo— foud juliz Ly i —— o o (slaggl) ol
s N

0
8F (Y
VYO

Ri=0.2m f_-"" (¥
Rz=t.6.m

v

Sl ) J) (sl il 8 sl 00d oo amies 10 yid 90 gl pTolS Sy 0 & Rad alie

_ Rad s
flawl jads —— s p Ly jai bl
5
| Yo ()
k= 300N/m \Wo (Y

k=30000N/m
Yoo (F

\Waso (F

=

-1-¥

~Y+A

~1.9



YA d=xio 358A Las _ lgh  —widge 4f g0 ::JF.-!T

Cliind Zoamae 4y 3F play 1)
Sy god pho C8g gran aals Sy olpe 8 ()
Dy n @S (ot ijae dr alald g saadsS ol o (F
gl o glal Ojpo b aaly e eSins gl o (T
Syion iy (Sl Jolas a3 game o) 13 e wsnalsS (i 3 (F

1o g fnlu.:-fﬁ.:-]:..b

V(@Wrpg (L D)) Sesbusgpl olosily aaly ) i o 6 0 dlane Sz S Sl 3 (355 Sl 1))

dw
P! )‘L} ..‘i_,|,.n J| J.g_,ﬂ.ﬁ' l.-.n.l_pd.] (E.'WT“ J'r \5' }GA.E_J.N J..':-ij'l q { a(;rﬂ }oj.-_g 1:4.'5-5.:# d;m ..l.':-lg
J

S a3 Gt Sy e Sy e ()
SrgS Sarda oS, Cote wdaigne s (Y
S g5 (i oSy (ohie vlagie Cuda (Y
S5 she daugie Sota oS p At (F
i gan (6 ) a2l ) Mgy =0V (2 y90le e g (512 0 palol (3 8lune (slonylgn S5 ly 1Y
Cid oo oo las 42 o e 2 1y (o ol p (39 05 a3 T S5 50 T (gl T Jolae o)
A Q)
VY (Y
\a (F
YA (f
el o bl | Solas (g 2 piloss loled U (cogtin ()b 518 plonil 5l Saa 1Y
S ey S gljle Gaa g JSG (Sl o Mles 5 G5 leSuple ()
&b oS
slel o gbie o IS olem b abais 7 b U 4 b, ¢ (Trade Studies) Jloe Slallas (Y
(TRL) (g5l Folol gehaws (i g o) il 0 gi o et el o s (F
gt 9,lge (galoi (¥
s JUwl e VT (508 g) e s g plus Lo SO oot (2B B 0 &5 jee s NIF
S5 ped3le e A Comd g0 35es Oluulow plail s (Cp) ol Ty wups opd aid,F
! jlade a2 3992 30 (CLa¢)
v ()
a/h (¥
0% (¥
o/f (F



Al canl suiSon slewlss O 4 @l «F (Matching Diagram) pj gedai ol Sbo 0 -N10
3 g2k ahii flaie @ C alidi Gl 3l Gus Gl 8058 )F pawsyi (53308 b ai b g8 Slas

{T/W e

¥ | iy 'I-JLﬁ'! J"W ¥ I-:.tu'i..:.: _‘ﬂ n..'i.,n'l..tf

]

A

=1

W
S L8]

bisgre (5,8 o b o Ses o Sisllas a4y o, ()
&b s 1p e b o ySles op Sgllas a o (F
Jaisgis g 0ld mba b o Sl Blas 4y yaew; (Y
Sosld o o g b o Slae BBlas a0 aw (F

Tl pame ) l)lae §l SGplus —VVF

3,5 ealiol Wash-in jl olg s JU Sei Sailels 5 555l jslize a ()
SJAF o b Sa Swlly 5 gsllaali ol St (Taper Ratio)  SaigsisG b s olsal (Y
s Cnp oliss o) o) M oiie oy & e s sl JSS (2lb gle mhl pla 51 (Y

&5l Cnyy

oS sly @ls & J s 5l el (Swept Back) S aigly s 8 U 555 F

Ll 2z (Forwa Sweep)

Py Fo Cwepnl 9y jlap 50 Jaimn slowlen O Sl S0 o o amiln oagdo (215b 0 VIV

el (e az 1) Laled (nl (59) » 0dd il eige (lgd (Al 00l 438 )T HlS 0 0 0o Tl

(p='lJ;T

kg

I'ﬂr ?

=0/%38per = sm")

(\

Yfao—— (¥

(v

et i SIGL g casd sl sals SledUsl L (¥



Y axio 358A Lad _ loh  wiigo df gozxe ,_:,FjT

sl pw jo(Area Rule) b 59l 5l capm jokiie & lowlan IS o1 ola ol )b 5l SGplas V1A
Y] 428, 1,3 solaiuwl 8590 Ligw LSy 3

Kuchemann Carrot (¥ Close Coupled Canard ()
Yehudi ¢f Wing Strake (v
Pl Pyt 9350 b oyi 93 Homebuilt sloylss <5 sl 55 o ygalo oy 5 Soplas 114
ol
Abitude (i)
Course (300 kn'
24,1000 .
EXT :'
/ 0
00 Aoan i // — 9
2000 mm
Adtitnde iy
I
:m|! / Crunse 4100 End ;%-: {T
Adviewida (11)
Crudae (190 )
14,000 — .
/ \,/— "
1500 | :I_'thJ B
TR m - 108 mem
Adtitande {10}
BB B E SERF é
U .




5 Saplas elul 5 (V) o8l oo soms yp sl o (g p8las G S5 ogtho o> 5o 1Y
(g0 Lot 55 gl ylene
(WIB) (sl oud Dbl jlade 5 5l 9y90 (Sl )l o 00 )p0 slalonlsn com vy s ()
Gl Jloged ;3
Gk jlogei 3l odal iy b rhane g 03)00 slabonlyn cone sl 5 a5 Conndga (¥
Canal Il S Lo lailis] @allae ) 51 ooliil 5 ongs culi Jlade ol (F
20,0 slalenlsn oz oo S0Le LS (Y
ey plas WIHU a9 YU (AR) ghlie Cond L YL JU 9 (nfows gply glomler SO glp T
oS oo olegdn 1) 5 sloZ 2
Small Length Tandem with Outriggers ()
Long Tri-Cycle with Outriggers (¥
Small Length Beach Gear (v
Long Tri-Cycle (¥
Silan coglie b Lalsn S (WIS) JU (5)li5 3L pogas 50 p5 polie j SuplaS o cogedn (215l j0 —IYY
30 of &l w8 oy o § WS o0 )l (ol FBoa0 L)l 1o il yie AD Cas b a5 YL
N

—old gl o 1ap aewile) fow! Jruse — s ol VA S0 PlainFlap b cosls
m

’ kg .

o8y 5 00 0 A= 1)
m

ave ()

e (Y

Yoo {T’
1Yo (¥

slelen sl (5ol 4ciil>) Static Margine 5 Cog b 93 (1 9 g3g0e 08 s (21l j0 IV

fagd oo aid )7 JJai 3 Uy 4z 4 Transport Jet Sy i

\ \
C..=or0}y —— C.. =0;0)
B deg (¥ g deg ()
SM =181 S.M =a7/
\ \
Cian =900l & y =ajea) ——
e deg (¥ ng o deg (¥

SM =47 SM=1o7.



Y dxdo 358A Las _ lgh  —widge 4f g0 ::JF.-!T

23 9yse plud b blie i a0 ¥ g ) bli wdl g Oy 4 olewlsa Payload-Range jlages 51 -\YF

(i)
A

Payload

(]

» Range

Max Fuel , Max Payload ()
Min Payload , Max Fuel (¥
Min Fuel . Max Take-off weight (v
Min Take-off weight . Max Payload (f
2950 Sl 50 43 ,F pa i jekiie A chie uai g b GABT e0 b Lawlen S5 jsugll g dlaa (gLilg) ST T
b yS S3 H L) (s eige Sl 50 9 B0y 0L iy cad 4 (Heige 1 38,8 K 50 () (aels

O] Zeatnio 3 jg0 PIAS & yger (w50 il Oy 4 Oty il (39990 1

; (¥ (Y . ()
de, < de, de, < de, de, < de, de, < de,



